三年级（下）口算、笔算试题

日期___________   用时___________  成绩_________
一、口算

10×2=         72－47=          20×5=          27＋15=

20÷2=         63÷3=           27×5=          510÷3=

1米=（   ）分米          1平方分米=（   ）平方厘米

  1平方米=（   ）平方分米          1分米=（   ）厘米 

1日= （   ）小时     1年=（   ）月     1分=（   ）秒

238÷8≈       876÷3≈      417÷6≈           753÷5≈ 

        89×30≈         32×48≈          43×22≈          52×68≈

二、用竖式算

405-268=           500-237=         305-187=         311-199=  

405+129=           436+287=         7.3-2.9=          10-1.7=

98×25=            83×38=        256÷4=           952÷5=   

三年级（下）口算、笔算试题

日期___________   用时___________  成绩_________
一、口算

40×9=        23×30=        84÷4=         15÷3=

12×4=        513×9=        4×815=        99÷9=

3平方米＝（    ）平方分米           32平方分米＝（     ）平方厘米 
3厘米＝（      ）分米                138秒＝（    ）分(     )秒    

300公顷＝（   ）平方千米          80000平方米＝（     ）公顷 

890÷9≈         459÷50≈         417÷60≈           351÷5≈

 65×11≈         76×11≈           27×19≈             32×41≈ 

二、用竖式算

259-176=           645-358=         528-189=         504-238=  

4+1.6=           6.5+3.7=         4.3-1.8=          8.2-4.5=

48×67=            43×38=        602÷8=           959÷9=   

三年级（下）口算、笔算试题

日期___________   用时___________  成绩_________
一、口算

（  ）+70=130   50×（  ）=200 （  ）-300=500   35÷（ ）=7

350+（  ）=1000   400 -（  ）=200 （ ）×8=400  1000-（ ）=70

7×9+4=     6×9+8=     7×8+4=     9×4+6=      6×6+7=

27×19≈        45×19≈      53×21≈           84×21≈     

38×21≈         35×21≈     550÷7≈       230÷6≈

二、脱式计算

439＋45×7              248÷4×16             65×（96÷6）   

25×13－120          （450－135）÷5           268+27×65         

     

330－345÷3             574÷(124－117)            948－13×62  
 
15×45÷3                 570-12×24                 345÷5×24  
三年级（下）口算、笔算试题

日期___________   用时___________  成绩_________
一、口算

（  ）÷5 =30   300 -（ ）=100 （  ）+500=1000  200-（  ）=0
（  ）÷6= 50   500 + （  ）=700 （  ）-700=300  900-（ ）=100

8×7＋6=      6×7＋6=       36÷3÷2=          5×5＋4=
1元8分=(     )元        9厘米=(       )米        10分米=(      )米

23平方千米=（    ）公顷        9.32米=(     )米(      )分米(     )厘米 

1900是（       ）年，2月有（      ）天。               3.7元=1(     )6(     )  
二、用竖式算 

21×44＝       66×77＝       19×36＝        63×34＝  
464÷4=
      365÷8=
       972÷6=        770÷5＝
458-79=        800-465=        591+279=        608-539=

    

三年级（下）口算、笔算试题

日期___________   用时___________  成绩_________
先口算，再熟记这些口算答案。
25×4=        125×8=        25×6=          125×2=
250×4=      1250×8=        25×8=          125×4=

估算下面各题

32 x 95≈     59 x 82≈
68 x 24≈     18 x 88≈

 x 19≈     47 x 83≈
    78 x 2≈      82 x 28≈
39 x 49≈     28 x 75≈
       496 x 7≈     168 x 85≈ 

29 x18≈     58x 51≈     
  43 x 38≈     78 x 59≈
三、脱式计算

400 x 2 +200=
400+200x 3=
200 x 4 -500=

12×3÷3=     5×8－8=        57×3×0=      86－86÷2=

8×2×7=        24＋15＋6=        18÷3－4=        50×6＋0=

